EAGRAROBREERT — 2 N— ABISH —F 202058130 (k) 2mI1IB3H

Gl > %2—# C2mAEX (xwlw | mEmml - |5 ) o 8
[x&4£] 1 % :1,000,000 @ ~ 23 :380,000  ~ 337 :250,000 ™ ~ 4 3%&:150,000 @ ~ 5 7 :120,000 M
BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o= e . AHIESE :31. -3-2- . — AR Gl
KSSL 1 EL # o7 e 1(3_1)6 3-32-2 | 39.4 4 (4_5;9) ik
AR HE— BIICF4T AR Fe
S=F_ = o #1138 :31. —~6-5- . = FEAEE (hFn)
DI —RK727> ' 56.0 1(13/12)7 6054 %90 ? ‘zg? %Wﬁiﬁbkﬁ
Ri*xfavRk—5— B:UT-—KTF1>7 BRSHE UT-—FK
.= 1Ly R : -1-1- — st (1)
72977z 7)— A ES 1(73L§ B 1 2734) (B) Afit77— 4
R4 7 hT—EY BiEAFIAT7 HREMH EVNI—F-RFLF
—ss " RE 132, -8-8- . - thgye GaFn)
EUFL by 5 o 1(352)8 8-8-8-7 |39.5 8 :_972) e o
:Ayaizgr— B:EUTFCT1—FZ FH FB
— 5 4 4 | WUMEEEZ 1:32.8 10-10-9-7 [ 39.1 | — 5 479 | EZE (1)
5(7[10| Y T7 A —H—)b 54.0 (757) be) | BHE
R:xAT7o R—Lb B:ZATIAXL—X BHH5
A 4 5 | EllFE— 1:32.9 8-9-7-6 |39.8| — | 10 | 450 | EFHBE (Aats)
6156 R 56.0 (3/4) (-3) |BEAEX
LT ReA Y2y 72 B:FzAILU— TS
s —pas . > 4 | FREBA 1:33.6 12-12-11-10{ 39.1 | — 11 465 | RAE (J11IF)
71719 Ey 707> g 56.0 (3) +1) REEE
L:€rs07a4 BiwAI TIIAT ENiGEve]
5 — e 46 | SEHER 1:33.9 2-2-2-3 | 41.9| — 3 457 | =R GAAN)
glgl11| ¥ ¥ I=>7KIL ¢t 56.0 (1 1/2) (-10) WER—
R:APY—bESR BT Tr=—HAZ it s
# 4 | FERGEE 1:34.0 4-5-5-7 | 41.4| — 7 412 | SFER (1)
9 3| 7410 54.0 (7€) ) | NEER
L:a—LisL4a B:UxY Ol FESE
o 2 N f 5 | ABHE 1:34.4 7-7-10-10 [41.0| — 9 | 444 |EE—F (&)
10/5/5|¥aV7Vaxi *50.0 @ () | ZA7I>E=TF1X ()
R:Z28—1)>70-X B:%8%> kX KBS
= o= ElGEL : —4-0- - @Rr— (J11&)
11 4| 717142 TNA * 7 2510 (11'314/'2% Saes 426 o (5:)24) EH
R:772VI7 BiT7AFEIITE TALDMIS
SEPETS 4 g | =indt 1:35.1 11-11-12-12| 40.2 | — 12 507 | HHEHESX (@)
12/8 12| F=¥ LT b 56.0 21/2) 1) | EEES
R:77NT5T BE-FT)-X HET7— L
® I —F—@EBIERL
13=zr= 1,11,2,3,4,7,5,(6,8),10,12,9
23—+ — 1,11,2,4,3,7,5,8,6,10,12,9
Gal=7r= 1,(2,4,11),(3,7),6,8,10,5,9,12
43—7+— |[1,2,11,7,4,6,(3,8,10),(5,9),12
[ RN
B OB 2 750M 714K 2-7 380M e & 2-6 1,110 3ER 1-2-7 900M
1 B 2 170 1-2 330H B 2-6 2,730 JEH 2-7-1 9,380M
7 120 1-7 180M B & 2-7 1,180
1 110 B H 2-7 2,780H

ARICOVWTRDTEEERROODE. TR LI,



